Answer Key ¢ Lesson 2: Explore Big Numbers with Base-Ten Hoppers

Student Activity Book

Name Date

Working with Big Numbers
{Momework
1. Find n to make the number sentence true.
A. 300,000,000 + n + 6,000,000 + 700,000 = 316,700,000
B. 7,700,000 = n + 700,000
C. n + 90,000,000 + 5,000,000 + 200,000 = 7,095,200,000

I

. The fifth graders are studying population in their Social Studies class. They
are comparing the population of different age groups in countries around
the world and have come up with some of the figures for this table.
Complete the rest of the table.

2013 International Populations Rounded
to the Nearest Hundred Thousand

oy | porooon | "o | e [
Chile 3,600,000 11,900,000 1,700,000
India 1,220,800,000 798,900,000| 69,500,000
Israel 7,700,000 2,100,000 800,000
Russia 142,500,000 22,900,000 101,000,000
Uganda 34,800,000 17,000,000 700,000
United States| 316,700,000 63,400,000 209,400,000
The World 7,095,200,000 | 1,367,000,000 |5,149,400,000 | 578,800,000
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3. Write an equation or draw a number line to show how you found the
answers for the following:

A. What is the total population of Chile?

B. How many children are in Uganda?

C. How many senior citizens are in the United States?
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4. Place the total population of each country on the World Population Number
Line 2.
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Working with Big Numbers (SAB pp. 127-129)
Homework
Questions 1-4

. A. 10,000,000
B. 7,000,000
C. 7,000,000,000
2.

2013 International Populations Rounded
to the Nearest Hundred Thousand

ouny | poroity | PHoGa® | MG [ A o
Chile 17,200,000 | 3,600,000 | 11,900,000 | 1,700,000
India 1,220,800,000 | 352,400,000 | 798,900,000 | 69,500,000
Israel 7,700,000 2,100,000 | 4,800,000 | 800,000
Russia 142,500,000 | 22,900,000 | 101,000,000 | 18,600,000
Uganda 34,800,000 | 17,100,000 | 17,000,000 | 700,000
United States| 316,700,000 | 63,400,000 | 209,400,000 |43,900,000
World 7,095,200,000 | 1,367,000,000 |5,149,400,000| 578,800,000

3. A. 17,200,000;
3,600,000 + 11,900,000 + 1,700,000 =
17,200,000

B. 17,100,000;

34,800,000 — 17,000,000 — 700,000 =
17,100,000

43,900,000,

316,700,000 — 63,400,000 — 209,400,000
= 43,900,000
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—1,500,000,000

— 1,400,000,000

— 1,300,000,000

— 1,200,000,000

Date

—1,100,000,000

—1,000,000,000

— 900,000,000

— 800,000,000

— 700,000,000

—1 600,000,000

—1 500,000,000

— 400,000,000

—300,000,000

—1 200,000,000
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— 100,000,000

World Population Number Line 2

Name
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Y. Using the World Population Number Line 2 in the Student Activity Book:
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